
  Model GEK-1-305-A 
Guard Enclosure Kit 

morsedrum.com   SN 0511 to Current (MMYY) or 273783p to Current 

 
 

Copyright – Morse Mfg. Co., Inc. 14 August 2024 Page 1 

 

 

ITEM QTY PART DESCRIPTION 

1 3 3789-P CASTER, 3” SWIVEL, STEM, 83 

2 3 1165-P NUT, 3/8-16 JAM 

4 1  4770-P LATCH, SPRING HOOK, 305-CAGE 

8 1 5102-P SWITCH, AIR LIMIT, 611-114 

11 2 3394-P NUT, 8-32 NYLON LOCK 

12 2 1714-P HHCS, 1/4-20 X 3/4 GR2 

13 2 1866-P WASHER, 1/4 USS 3/4 OD 

14 2 3923-P NUT, 1/4-20 WHIZ LOCK 

15 2 6302-P BHCS, 8-32 X 1-3/4 


